Four Maths Questions at Different Levels — Question Set 2

Easy higher tier GCSE
J5 (\/§ + \/E) can be written in the form

av'10 where a 1s an integer.
Find the value of a.

Edexcel GCSE, June 2018, Paper 1

Harder higher tier GCSE

6n

2

n+5

n 1s an integer such that 3n + 2 < 14 and 51

Find all the possible values of n.

Edexcel GCSE, June 2018, Paper 1

Something interesting

Evaluate the sum...

1 1 1
T+v2 vz+v3 T+ 16

Underground Maths ‘Scary Sum’

A Level
The diagram shows a part ABC of the curve y = 3 — 2x2,

together with its reflections in the lines y=x, v=-—xandy=0.

Find the area of the shaded region.

OCR Paper 2, June 2018

Answers at www.colmanweb/easter2020



https://colmanweb.co.uk/easter2020/

Four Maths Questions at Different Levels — Answers Set 2

Easy higher tier GCSE
J5 (\/§ + \/E) can be written in the form

av'10 where a 1s an integer.

Find the value of a.
a=>5

Edexcel GCSE, June 2018, Paper 1

Harder higher tier GCSE

6n

2

n+5

n 1s an integer such that 3n + 2 < 14 and 51

Find all the possible values of n.
n=2234

Edexcel GCSE, June 2018, Paper 1

Something interesting

Evaluate the sum...

1 1 1
T+v2 vz+v3 T+ 16

3

Underground Maths ‘Scary Sum’

A Level
The diagram shows a part ABC of the curve y = 3 — 2x2,

together with its reflections in the lines y=x, v=-—xandy=0.

Find the area of the shaded region.

OCR Paper 2, June 2018


http://www.bbc.co.uk/newsbeat/article/33022147/that-gcse-maths-question-and-the-students-who-tried-to-answer-it
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